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Electricity Review
Answers



~ 22. 6.0 C of charge pass through a wire in 20.0 s. Calculate the current in the wire.
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23. A current of 0.5 A flows through a wire. How much charge passes through in 1.0 minute?
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24. Electrons with a charge of 1.6x107" C have an electrical potential of 12 V. Calculate the
energy of each electron.
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25. The charges flowing in the circuit have 8.0x10"° J of energy. Given a charge of 1.6x10"° C,
calculate the electric potential of the charges.
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26. The label on a hairdryer says that is uses 100W of power. If the hairdryer is used for 10
minutes, how much energy is transformed?
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27. ATV uses 10 kWh per month. If electricity costs 9 ¢/kWh, how much would it cost per

/3 year?
(ost = /0 kw't( 6.09) = £0. 70 fra K_
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28. An oven uses 3600W of power to bake. How much does it cost to use the oven for 30
minutes using a cost of 9 ¢/kWh?

Cost = (3'é07>u/)(30m "2"{’)(’00%) ffa 6
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29. Draw a schematic diagram showing a 9.0 V battery, a switch, a light bulb, and a resistor
connected in series.
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30. Draw a schematic diagram showing a 9.0 V battery connected to a resistor and a light bulb
in parallel. '
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